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Question #1:Circle the correct answer 4.5 'Pf
1) The solution of the equation logs 2 + 2logs x = logy(7z — 3)

a) £=3
@a’:z%, =23
¢) =3
d) z=1

2) Let f(z) =% z <0. Find the derivative of f~*(z) at x=4

a)
b)

c)

Lo o -1 o S 1

i

3) [ sec(b5z)dz,
a) =In|tan(bz)|+c
@ In|sec(5z) + tan(5z)| + ¢
c) 5ln|sec®(5z)| + ¢
d)

51n |sec(5x) + tan(5z)| + ¢
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Question #2: Find the derivative of the inverse function of f(z) =z +sinzatz == < P"_

S —

L) = X4-sin X
C\(X) =\ 4 Cos X

l | = ___&__ = Uma&@nﬂj

WL s

é £'| = T aF | + CesTl
dx J{:TT %T\p"(ﬂﬂ b3 )\i—:}ﬂ—

[ =72
1= X +Sia X

X=T |

—

Question #3: Selected values of a strictly increasing function g(z) and g'(z) are shown on the
table below. Find Q{SP,L

e —

x |[-3|-1[11]4
glz) (5[ 1[0 ]-3
@ -4l5 512
1) (g7 (1) 2) (g71)'(=3)
4 l
g | of | = —5
ag = T ox ) @_’
Xz cx -
X ==l
S N—
—_ | = ___‘,___.. = -5 (j\(l-f) i |
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Question #1:Circle the correct answer H. 5 ﬁ;
1) The solution of the equation In(z® —22? —z) —Inz =1n2

a:=3

b) 2=3, 2=-1, 2=0
c) z=-1

d) =38, #=-1
2) Let f(z) = 23 + 2z — 3. Find the value of a if f~!(a) = 2
o}
B 1

c) 2

d) Does not exist
3) If y = z'™=, then ¢/(e) =

a) 0

b) 1
()2
d) e
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Questmn #2:Given the following function

()IIQISQ"Q?VM

ﬁ a) Find f~'(z) ] o ,ﬂ(x)— :;li' 0 ,
D R R T
L 18

x = (9f — 4= (-4
1) = ()

ind L at 2 = — ™ |
Q,P\'i b) Find £— at 2 = —1 QB_ di) a5 T
Je' g (1) (M i = ).
—3——"’ X=
it CORE
g L a4 E |
__a——f’-— ,D(x):l“\r;
X =-1 Phy= =L
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Question #1:Circle the correct answer 4.5 Pb
1) If y = Iny/tan z, then the value of gg-at 2:_5%""‘___‘__

a) 10
(o1
c) 0

d) &=

2) The solution of the equation

In(z) + In(z — 2) = In(z + 10)

a) {—2,5}

£

C) {_5: 2}

3) tan~! (tan?r).

a) =i

4
4

g] %

d)

Does not exist
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Question #2:Given the following function

()1\/‘_,__},LS£""I?? \/Q

}B%’Fmd Fi sine Fl)= = <0
i | T Do)
o5

= ([,) )
- Q_(?q" _ () :(\_X)

| éﬂ-b)]?‘ind%latm=-—1 Jp

T 4(9) =[]
'_CS?(-_.X-.-;."'
Q_'E_ (C)F) _ - wmf&) 1-Vx
. 3 Xl=‘l (‘i—S\I L" Pata =t
x=Y 2x

0. D

fj.P,c) Sketch f(z) and f~'(z)
a P \'—\L
L. (r) 'K

——

Loy~ 1-Vx
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Question #1:Circle the correct answer 2
1) The solution of the equation Inz —In(z—1)=1

a) =10

b) =1, = =10
c) z=5

d) z=25

d) Does not exist

3) If J‘ sec2!2z!

tan(2z)

LIn|tan(2x)| + ¢

b) 3In|sec(2z) + tan(2z)| + ¢

¢) 3n|sin(2z)| + ¢
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Question #2:Let f(z) = 2— 2 S j:g f. \ __,| ?? Y@j

/}5"& a) Determine f~!(z) : ’

ance L) - ‘% <o

X [ &) o](;e, an \Q\_Qlot(
et -1
_ 5
Y+ - -
(‘j - E—; (%) = X+ 2

i"(ﬁm\ # ﬁ(% —‘1\

s Syt
s - =
(_.5_-+1) - X .
X =
|
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